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class Floyd Path():
def init (self, node, node map, path map):
self. node = node
self. node map = node map
self. node length = len(node map)
self. path map = path_map
self. init Floyd()

def call (self, from node, to node):
self. from node = from node
self. to node = to node

return self. format path()

def init Floyd(self):
for k in range(self.node length):
for i in range (self.node length):
for j in range(self.node length):
tmp = self.node map[i][k] + self.node maplk]![j]
if self.node map[il[j] > tmp:
self.node map[i][j] = tmp
self.path map[i][j] = self.path map[i][k]

print( init Floyd is end’)

def format path(self):
node list = []
temp node = self. from node
obj node = self.to node
print (f”the shortest path is: {self.node map[temp node][obj nodel}”)
node list.append(self. node[temp node])
while True:
node list. append(self.node[self.path map[temp node][obj node]])
temp node = self.path map[temp node][obj node]
if temp node == obj node:
break;



return node list

def set node map(node map, node, node list, path map):
for i in range (len(node)) :
# X AEN O
node map[i][i] = 0
for x, y, val in node list:
node map[node. index (x) ] [node. index (y) ] =
node map[node. index (y) ] [node. index(x)] = val

node. index (y)

path map[node. index (x) ] [node. index (y) ]
path map[node. index (y) ] [node. index (x)] = node. index (x)

if name ==" main ”:
INF val=float(’ inf’)
node = 1, ’2, '8, "4, ’5, 6]
node list = [ClU, ’2, 1, (U, '3, 2, (2, '3, 1, (2, "4,
3),02,76,1),
3,4, 1n, C3,’5,2, C4,’6, 3, (5,6, 6)]

# node maplil[j] 77 i B j FREHE

node map = [[INF val for val in range(len(node))] for val in range (len(node))]
# path mapli][j1=j Fo~ 1 B j BRI ZEIT TN j

path map = [[0 for val in range(len(node))] for val in range(len(node)) ]

set node map (node map, node, node list, path map)

BOGE U IR R NN Il Y R, R W R I W B A M for index, code in
enumerate (from node)

from node = node. index("1’)

to node = node. index(’6’)

Floydpath = Floyd Path(node, node map, path map)

path = Floydpath (from node, to node)

print (path)



